

Bachelor of Technology(Environmental Engineering), I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

AC101a: APPLIED CHEMISTRY AM101: MATHEMATICS-I AP101: PHYSICS - I CE101: BASICS OF CIVIL ENGINEERING EN103: WATER AND WASTEWATER ANALYSIS

	Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	CE101	EN103	SGPA	то	CGPA	Failed Courses
	51.140	NUI NO.	Name of Student	4.00	4.00	4.00	4.00	2.00	JULA		COFA	Falled Courses
Γ	1	23/EN/108	SAMAY MALIK	F	F	F	F	F	0	0		AM101 CE101 EN103 AC101a
	2	23/EN/116	LEKENA POLI	С	F	F	С	B+	3	10		AP101 AM101

AC101a: APPLIED CHEMISTRY AEC11: Soft Skills and Personality Development AM101: MATHEMATICS-I AP101: PHYSICS - I CE101: BASICS OF CIVIL ENGINEERING EN103: WATER AND WASTEWATER ANALYSIS

Γ	Sr.No	Roll No.	Name of Student	AC101a	AEC11	AM101	AP101	CE101	EN103	SGPA	тс	CGPA	Failed
	51.110		Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JGFA		COFA	Courses
	3	23/EN/025	HARSH JHA	С	B+	Р	B+	Р	Α	5.5	20	5.5	

AC101a: APPLIED CHEMISTRY AEC13: Logical Reasoning AM101: MATHEMATICS-I AP101: PHYSICS - I CE101: BASICS OF CIVIL ENGINEERING EN103: WATER AND WASTEWATER ANALYSIS

Sr.No	Roll No.	Name of Student	AC101a	AEC13	AM101	AP101	CE101	EN103	SGPA	тс	CGPA	Failed Courses
51.110	HOILINO.	Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JUPA		CGPA	Falled Courses
4	23/EN/016	AYUSH GUPTA	F	F	F	F	F	F	0	0		AM101 CE101 EN103 AEC13 AC101a
5	23/EN/018	BOBY	В	В	В	B+	B+	В	6.4	20	6.4	
6	23/EN/058	SAMARBIR SINGH	A	B+	C	B+	B+	A+	7	20	7	
7	23/EN/084	ANJAN ANAND	B+	Α	С	В	Р	Α	6	20	6	

fladhukag ..

OIC (Results)



Bachelor of Technology(Environmental Engineering), I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

AC101a : APPLIED CHEMISTRY AEC15 : Public Speaking AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EN103 : WATER AND WASTEWATER ANALYSIS

Sr.No	Roll No.	Name of Student	AC101a	AEC15	AM101	AP101	CE101	EN103	SGPA	тс	CGPA	Failed
51.110	noi No.	Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JOFA		CGFA	Courses
8	23/EN/056	SAKSHI GUPTA	Α	A+	B+	B+	A+	A+	8	20	8	

AC101a: APPLIED CHEMISTRY AEC18: Spoken Skills in English AM101: MATHEMATICS-I AP101: PHYSICS - I CE101: BASICS OF CIVIL ENGINEERING EN103: WATER AND WASTEWATER ANALYSIS

Sr.No	Roll No.	Name of Student	AC101a	AEC18	AM101	AP101	CE101	EN103	SGPA	тс	CGPA	Failed
31.110	HOILING.		4.00	2.00	4.00	4.00	4.00	2.00	JGFA		CGFA	Courses
9	23/EN/036	KUNSH BHATIA	B+	B+	В	B+	Α	В	6.9	20	6.9	
10	23/EN/071	VANSH CHOUDHARY	C	B+	Р	F	C	A	4.3	16		AP101

AC101a: APPLIED CHEMISTRY AEC19: Technical Communication AM101: MATHEMATICS-I AP101: PHYSICS - I CE101: BASICS OF CIVIL ENGINEERING EN103: WATER AND WASTEWATER ANALYSIS

Gr	.No	Roll No.	Name of Student	AC101a	AEC19	AM101	AP101	CE101	EN103	SGPA	тс	CGPA	Failed
	.140	non no.	Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	SOFA	10	COFA	Courses
-	11	23/EN/019	CHANDAN KUMAR DAS	Р	B+	F	F	Р	B+	3	12		AP101 AM101
-	12	23/EN/041	NATTA AJAYESH	B+	A+	A	Α	B+	Α	7.7	20	7.7	
	13	23/EN/068	TISHA GUPTA	Α	Α	С	С	Р	B+	5.9	20	5.9	

Hadhukag ..

OIC (Results)



Bachelor of Technology(Environmental Engineering), I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

AC101a : APPLIED CHEMISTRY AEC19 : Technical Communication AM101 : MATHEMATICS-I AP101 : PHYSICS - I EE105 : BASIC ELECTRICAL ENGINEERING -II EP103 : ENGINEERING PHYSICS WORKSHOP-I

Sr.No	Roll No.	Name of Student	AC101a	AEC19	AM101	AP101	EE105	EP103	SGPA	тс	CGPA	Failed Courses
31.140	NUI NO.		4.00	2.00	4.00	4.00	4.00	2.00	JGFA			Falled Courses
14	23/EN/080	ANGAD SHUKLA	F	F	F	F	F	F	0	0		AM101 EE105 EP103 AEC19

AC101a: APPLIED CHEMISTRY AEC3: Appreciation of Short Stories AM101: MATHEMATICS-I AP101: PHYSICS - I CE101: BASICS OF CIVIL ENGINEERING EN103: WATER AND WASTEWATER ANALYSIS

Sr.No	Roll No.	Name of Student	AC101a	AEC3	AM101	AP101	CE101	EN103	SGPA	то	CGPA	Failed
51.140	HUI NO.	Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JGFA		CGFA	Courses
15	23/EN/082	AADITRI	A	A+	В	A	В	A+	7.4	20	7.4	
16	23/EN/088	ATUL KUMAR	В	0	В	B+	B+	A+	7.1	20	7.1	
17	23/EN/102	PARAM KUMAR GUPTA	В	Α	С	F	Р	B+	4.5	16		AP101

AC101a : APPLIED CHEMISTRY AEC4 : Business Communication and Presentation Skills AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EN103 : WATER AND WASTEWATER ANALYSIS

Sr.No	Roll No.	Name of Student	AC101a	AEC4	AM101	AP101	CE101	EN103	SGPA	тс	CGPA	Failed
51.140		Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JULA		CGFA	Courses
18	23/EN/014	ASHWANI RAJ	Р	B+	Р	В	С	В	5.1	20	5.1	
19	23/EN/015	AYESHA HUSSAIN	A+	A	B+	A+	A+	Α	8.4	20	8.4	
20	23/EN/026	HARSHITA GUPTA	B+	A+	В	Α	В	В	6.9	20	6.9	

Hadhukag ..

OIC (Results)



Bachelor of Technology(Environmental Engineering), I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

21 23/EN/030 JATIN HANDA P C F P C B+ 38 16											
	21	23/EN/030	JATIN HANDA	Р	С	F	Р	С	3.8	16	 AM101

AC101a : APPLIED CHEMISTRY AEC5 : Communication Skills AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EN103 : WATER AND WASTEWATER ANALYSIS

	Sr.No	Roll No.	Name of Student	AC101a	AEC5	AM101	AP101	CE101	EN103	SGPA	тс	CGPA	Failed
	31.140		Name of Student	4.00	2.00	4.00	4.00	4.00	2.00	JGFA		CGFA	Courses
[22	23/EN/008	ANU	Α	B+	B+	B+	В	A+	7.2	20	7.2	

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EN103 : WATER AND WASTEWATER ANALYSIS VAC11 : Leadership Through Self-Management

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	CE101	EN103	VAC11	SGPA	тс	CGPA	Failed Courses
51.10		Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JGFA		COFA	Falled Courses
23	23/EN/004	ABHISHEK KUMAR JANGID	В	В	A	A	A+	A+	7.4	20	7.4	
24	23/EN/044	NISHANT YADAV	В	В	F	В	В	B+	4.9	16		AP101
25	23/EN/066	TANISH KOHLI	F	F	F	F	F	с	0.63	2		AM101 CE101 EN103 AC101a

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EN103 : WATER AND WASTEWATER ANALYSIS VAC12 : NCC

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	CE101	EN103	VAC12	SGPA	тс	CGPA	Failed
31.NO	NOILNO.	Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JOFA		CGFA	Courses

fladhukag ..

OIC (Results)



Bachelor of Technology(Environmental Engineering), I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

26	23/EN/083	AKSHAT BHATIA	С	Р	В	B+	Α	Α	6	20	6	
 				-	_				-		-	

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EN103 : WATER AND WASTEWATER ANALYSIS VAC19 : Science & Practice Of Happiness

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	CE101	EN103	VAC19	SGPA	тс	CGPA	Failed
51.140	non No.		4.00	4.00	4.00	4.00	2.00	2.00	JGFA		CGFA	Courses
27	23/EN/037	LAKSHAY BANSAL	0	Α	0	B+	A+	0	8.9	20	8.9	
28	23/EN/063	STEVE PAUL	A+	В	B+	В	A	В	7	20	7	

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EN103 : WATER AND WASTEWATER ANALYSIS VAC20 : Sports I

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	CE101	EN103	VAC20	SGPA	тс	CGPA	Failed Courses
31.110			4.00	4.00	4.00	4.00	2.00	2.00	JGFA		CGFA	Falled Courses
29	23/EN/001	AAYUSH BAGRI	В	Р	В	Р	B+	B+	5.4	20	5.4	
30	23/EN/039	MOHIT KUMAR	F	F	F	Р	B+	С	2	8		AP101 AM101 AC101a
31	23/EN/040	MRINAL KUMAR SINGH	Р	С	Р	В	B+	A+	5.4	20	5.4	
32	23/EN/073	VEDANT TEOTIA	С	Р	В	С	0	Α	5.8	20	5.8	

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EN103 : WATER AND WASTEWATER ANALYSIS VAC21 : Sports II

Padhukag ..

OIC (Results)

L Juy

Controller of Examination



Bachelor of Technology(Environmental Engineering), I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	CE101	EN103	VAC21	SGPA	тс	CGPA	Failed Courses
51.110		Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JUSUPA		CGFA	Falleu Courses
33	23/EN/055	RITVIK MOHAN SINHA	0	B+	A	В	A+	B+	7.8	20	7.8	
34	23/EN/086	ANUBHAV SINGH	F	F	Р	С	B+	B+	3.2	12		AM101 AC101a
35	23/EN/089	DHEERAJ GOYAL	С	Α	Α	Р	B+	F	5.7	18		VAC21
36	23/EN/093	HRIDAY GOEL	С	F	Р	С	B+	F	3.5	14		AM101 VAC21
37	23/EN/096	KHUSH CHAWLA	Α	С	B+	С	A	B+	6.5	20	6.5	
38	23/EN/099	MOHD AYAAN KHAN	В	Р	F	В	A	F	4	14		AP101 VAC21
39	23/EN/107	SAMAN ABDULLA	B+	B+	Α	В	B+	F	6.3	18		VAC21
40	23/EN/110	SHREERAM SHRIVASTAVA	С	С	В	Р	B+	B+	5.4	20	5.4	
41	23/EN/114	SOURABH SHARMA	В	С	F	В	B+	В	4.7	16		AP101
42	23/EN/115	TRILOKENDRA SINGH	B+	Р	В	B+	B+	A+	6.4	20	6.4	

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EN103 : WATER AND WASTEWATER ANALYSIS VAC22 : Universal Human Values: I Self-Family

Γ	Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	CE101	EN103	VAC22	SGPA	тс	CGPA	Failed
	31.110	HUI NO.	Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JULA		CGFA	Courses
	43	23/EN/033	KANISH	Р	F	F	Р	B+	В	2.9	12		AP101 AM101

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EN103 : WATER AND WASTEWATER ANALYSIS VAC24 : Universal Human Values: Understanding Harmony

(Hadhukag ..

OIC (Results)



Bachelor of Technology(Environmental Engineering), I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	CE101	EN103	VAC24	SGPA	тс	CGPA	Failed Courses
51.10	noi No.	Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JULA		COFA	Falleu Courses
44	23/EN/042	NIKHIL SAHU	Р	F	F	F	F	F	0.8	4		AP101 AM101 CE101 EN103 VAC24
45	23/EN/054	RISHABH RAJ GUPTA	Α	С	B+	A	B+	B+	7	20	7	

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EN103 : WATER AND WASTEWATER ANALYSIS VAC27 : Introduction to Environmental Science

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	CE101	EN103	VAC27	SGPA	тс	CGPA	Failed Courses
51.110	HUI NO.	Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JGFA		COFA	Falled Courses
46	23/EN/005	AKANSHA SETHI	0	В	A+	В	A+	0	8.1	20	8.1	
47	23/EN/027	HIMANSHU	Р	Р	F	Р	B+	F	3.1	14		AP101 VAC27
48	23/EN/046	PIYUSH KUMAR	С	Р	Р	Р	В	B+	4.7	20	4.7	
49	23/EN/048	PRINCE KUMAR	С	Р	Р	Р	В	Р	4.4	20	4.4	
50	23/EN/051	PRIYAM SIMALTI	В	С	F	B+	0	B+	5.3	16		AP101
51	23/EN/052	RAJDEEP	С	F	F	С	А	F	2.8	10		AP101 AM101 VAC27
52	23/EN/065	SUNNY KUMAR	B+	Р	С	С	В	В	5.4	20	5.4	
53	23/EN/078	MIN THU YEIN HTUN	B+	В	B+	С	A+	С	6.4	20	6.4	

AC101a: APPLIED CHEMISTRY AM101: MATHEMATICS-I AP101: PHYSICS - I CE101: BASICS OF CIVIL ENGINEERING EN103: WATER AND WASTEWATER ANALYSIS VAC3 : Corporate Social Responsibility

(Hadhukag ..

OIC (Results)



Bachelor of Technology(Environmental Engineering), I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

Γ	Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	CE101	EN103	VAC3	SGPA	тс	CGPA	Failed
	51.140	non No.	Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JULA		COFA	Courses
	54	23/EN/029	ISHIT YADAV	В	Р	С	Р	В	Α	5.2	20	5.2	

AC101a: APPLIED CHEMISTRY AM101: MATHEMATICS-I AP101: PHYSICS - I CE101: BASICS OF CIVIL ENGINEERING EN103: WATER AND WASTEWATER ANALYSIS VAC5: Emotional Intelligence

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	CE101	EN103	VAC5	SGPA	тс	CGPA	Failed
51.140		Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JULA		CGFA	Courses
55	23/EN/020	DANISH ANSARI	С	С	С	Α	Α	Α	6.2	20	6.2	
56	23/EN/038	LAKSHIT YADAV	С	F	С	Р	0	С	4.3	16		AM101
57	23/EN/076	кітнмі	В	Р	B+	Р	Α	С	5.5	20	5.5	

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I BT103 : APPLIED AQUACULTURE EC101 : BASIC ELECTRONICS & COMMUNICATION ENGINEERING VAC6 : Extension Outreach Activities

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	BT103	EC101	VAC6	SGPA	тс	CGPA	Failed Courses
51.10		Name of Student	4.00	4.00	4.00	2.00	4.00	2.00	JULA		COFA	Falled Courses
58	23/EN/121	FAIZAN ALI	F	F	F	F	F	F	0	0		BT103 VAC6 AC101a
59	23/EN/120	NANDITA SHEKHAWAT	Α	F	В	A	В	A+	5.7	16		AM101
60	23/EN/117	RUDRAKSH AGARWAL	B+	В	В	A	В	A+	6.7	20	6.7	
61	23/EN/118	UDIT PANT	C	F	С	A	Р	Α	4.4	16		AM101

fadhukag ..

OIC (Results)



Bachelor of Technology(Environmental Engineering), I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EN103 : WATER AND WASTEWATER ANALYSIS VAC6 : Extension Outreach Activities

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	CE101	EN103	VAC6	SGPA	тс	CGPA	Failed
51.10		Name of Student	4.00	4.00	4.00	4.00	2.00	2.00	JUL		CGFA	Courses
62	23/EN/079	NEELAKSHI	В	Р	Р	B+	Α	0	6	20	6	
63	23/EN/081	AADI AGGARWAL	A	A	Α	A	B+	0	8.1	20	8.1	
64	23/EN/087	ARYAN NARULA	В	С	В	С	B+	A+	6	20	6	
65	23/EN/090	DISHA SIKKA	A	B+	В	С	Α	A+	6.9	20	6.9	
66	23/EN/092	HARDIK MITTAL	В	С	F	С	Α	A+	4.9	16		AP101
67	23/EN/095	KESHAV SHARMA	Р	F	Р	Р	B+	0	4.1	16		AM101
68	23/EN/097	LAKSHAY BHATIA	B+	С	B+	С	B+	0	6.5	20	6.5	
69	23/EN/098	MANORAMA	В	Р	Р	В	B+	A+	5.6	20	5.6	
70	23/EN/100	MUSKAN KUMARI	В	С	F	B+	B+	A+	5.2	16		AP101
71	23/EN/101	NAMAN BISHAMBHU	A	С	В	B+	A+	A+	7	20	7	
72	23/EN/104	PRIYANSHU RANJAN	С	Р	Р	B+	B+	A+	5.6	20	5.6	
73	23/EN/105	RAGHAV SHARMA	Р	Р	F	Р	B+	A+	4	16		AP101
74	23/EN/106	RAHUL SHARMA	B+	В	С	В	B+	0	6.5	20	6.5	
75	23/EN/109	SARTHAK SHARMA	В	Р	F	Р	B+	0	4.5	16		AP101
76	23/EN/112	SIDDHANT SINGH	B+	Р	С	B+	B+	0	6.3	20	6.3	
77	23/EN/113	SONIKA MITTAL	B+	Р	B+	В	0	A+	6.7	20	6.7	

AC101a : APPLIED CHEMISTRY AM101 : MATHEMATICS-I AP101 : PHYSICS - I CE101 : BASICS OF CIVIL ENGINEERING EN103 : WATER AND WASTEWATER ANALYSIS VAC9 : Introduction to Biological Science

Hadhukag ..

OIC (Results)



Bachelor of Technology(Environmental Engineering), I-SEMESTER

Result Declaration Date : 05-03-2024

Notification No: 1661

Sr.No	Roll No.	Name of Student	AC101a	AM101	AP101	CE101	EN103	VAC9	SGPA	тс	CGPA	Failed Courses
			4.00	4.00	4.00	4.00	2.00	2.00				
78	23/EN/017	BHAVTEJ VEER	F	F	F	F	F	F	0	0		AM101 CE101 EN103 VAC9 AC101a

fladhukag ..

OIC (Results)

h yen